

On The k-Caputo-Fabrizio Fractional Derivative and its Applications

Pablo I. Pucheta^{1,*}

¹ Faculty of Agricultural Sciences, National University of Northeast, Corrientes, Argentina.

Abstract: In this paper a generalization of the derivative due to Caputo and Fabrizio in [3] is introduced. We present some useful properties, evaluate its Laplace transform and also obtain the k-fractional integral associated with the new fractional derivative. We will also resolving the k-fractional logistic equation Given by Cerutti [4] with a new fractional operator called on the k-Caputo-Fabrizio fractional derivative with a non-singular kernel. In the same way we will see that when $k = a = 1$ the solution matches with the one given by Camargo and Bruno-Alfonzo [6].

Keywords: Fractional Calculus, Laplace Transform, k-Caputo-Fabrizio fractional derivative.

© JS Publication.

1. Introduction

As it is well known, in 2015 Caputo and Fabrizio have introduced a new fractional derivative with smooth kernel. Based on the Caputo fractional given by

$$D_{a,t}^{(\alpha)} f(t) = \frac{1}{\Gamma(1-\alpha)} \int_a^t (t-\lambda)^{-\alpha} f^{(1)}(\lambda) d\lambda \quad (1)$$

when $f \in W^{2,1}[a,b]$ and $0 \leq \alpha < 1$. If in (1) by changing the kernel $(t-\lambda)^{-\alpha}$ with the function $e^{-\frac{\alpha}{1-\alpha}t}$ and $\frac{1}{\Gamma(1-\alpha)}$ with $\frac{M(\alpha)}{1-\alpha}$, we obtain the following new definition of fractional derivative without singular kernel Michele Caputo and Mauro Fabrizio of order α , $0 \leq \alpha < 1$.

$${}^{CF}D_{a,t}^{(\alpha)} f(t) = \frac{M(\alpha)}{1-\alpha} \int_a^t e^{-\frac{\alpha}{1-\alpha}(t-\lambda)} f^{(1)}(\lambda) d\lambda, \quad (2)$$

where $M(\alpha)$ is a normalization function such that $M(0) = M(1) = 1$ (see [3]). In this paper, by using the k-Gamma function introduced by Díaz and Pariguan [5] and the k-Pochhammer symbol, we present a generalization of the so called Caputo-Fabrizio derivative. To do this will start recalling some definitions and properties.

Definition 1.1. Let z be a complex number that $\operatorname{Re}(z) > 0$. The k-Gamma function is given by the following integral

$$\Gamma_k(z) = \int_0^\infty t^{z-1} e^{-\frac{t^k}{k}} dt \quad (3)$$

The relationship between $\Gamma_k(z)$ and the classical $\Gamma(z)$ is expressed by

$$\Gamma_k(z) = k^{\frac{z}{k}-1} \Gamma\left(\frac{z}{k}\right) \quad (4)$$

* E-mail: pablo.pucheta@hotmail.com

It can be seen that $\Gamma_k(z)$ is such that $\Gamma_k(z) \rightarrow \Gamma(z)$ as $k \rightarrow 1$. The fractional integral associated with Caputo-Fabrizio fractional derivative is given by (see [6]).

$${}^{CF}I_t^{(\alpha)} f(t) = \frac{1-\alpha}{M(\alpha)} f(t) + \frac{\alpha}{M(\alpha)} \int_0^t f(\lambda) d\lambda \tag{5}$$

If f is function such that $f^{(s)}(a) = 0, s = 1, 2, \dots, n$ (see [3])

$$D^{(n)}({}^{CF}D_{a,t}^{(\alpha)} f(t)) = {}^{CF}D_{a,t}^{(\alpha)}(D^{(n)} f(t)) \tag{6}$$

The Laplace transform of the Caputo-Fabrizio fractional derivative is given by (see [3])

$$\mathcal{L}\{{}^{CF}D_t^{(\alpha)} f(t)\}(s) = \frac{s\mathcal{L}\{f(t)\}(s) - f(0)}{s + (1-s)\alpha} \tag{7}$$

2. Main Result

Definition 2.1. Let $f \in W^{1,2}[a, b]$ Sobolev spaces, $0 \leq \alpha < 1$. Then, the k -Caputo fractional derivative of order α of the function f is given by

$${}^{CF}D_{a,t,k}^{(\alpha)} f(t) = I_{a,t,k}^{1-\alpha} f(t) = \frac{1}{k\Gamma_k(1-\alpha)} \int_a^t (t-\lambda)^{\frac{1-\alpha}{k}-1} f^{(1)}(\lambda) d\lambda \tag{8}$$

where $I_k^{(1-\alpha)} f(t)$ is the k -Riemann-Liouville fractional integral (see [7, 11]).

If in (8) we replaces $\Gamma_k(1-\alpha) = k^{\frac{1-\alpha}{k}-1} \Gamma(\frac{1-\alpha}{k})$ we obtain

$${}^{CF}D_{a,t,k}^{(\alpha)} f(t) = \frac{1}{k^{\frac{1-\alpha}{k}} \Gamma(\frac{1-\alpha}{k})} \int_a^t (t-\lambda)^{-(\frac{\alpha-1}{k}+1)} f^{(1)}(\lambda) d\lambda \tag{9}$$

now if we consider $\frac{\frac{\alpha-1}{k}+1}{1-(\frac{\alpha-1}{k}+1)} = \frac{k}{1-\alpha} - 1$ then, by changing the kernel $(t-\lambda)^{-(\frac{\alpha-1}{k}+1)}$ with the function $e^{-(\frac{k}{1-\alpha}-1)}$ and $\frac{1}{\Gamma(\frac{1-\alpha}{k})}$ with $\frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}}}$ in (9), we obtain the following

Definition 2.2. Let $f \in W^{1,2}[a, b], 0 \leq \alpha < 1$. Then the k -Caputo-Fabrizio fractional derivative of order α of the function f is given by

$${}^{CF}D_{a,t,k}^{(\alpha)} f(t) = \frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}} \frac{1-\alpha}{k}} \int_a^t e^{-(\frac{k}{1-\alpha}-1)(t-\lambda)} f^{(1)}(\lambda) d\lambda \tag{10}$$

where $M_k(\frac{\alpha}{k})$ is normalization function such that $M_k(0) = M_k(1) = 1$.

Note that if $f(t) = c, c \in \mathbb{R}, {}^{CF}D_{a,t,k}^{(\alpha)} f(t) = 0$ and ${}^{CF}D_{a,t,k}^{(\alpha)} f(t) \rightarrow D_{a,t}^{(\alpha)} f(t)$ as $k \rightarrow 1$.

Lemma 2.3. If f is a function such that $f^{(s)}(a) = 0$ con $s = 1, \dots, n$. Then

$${}^{CF}D_{a,t,k}^{(\alpha)}(D^{(n)} f(t)) = D^{(n)}({}^{CF}D_{a,t,k}^{(\alpha)} f(t)). \tag{11}$$

Proof. We begin considering $n = 1$, then from definition (10), we have

$${}^{CF}D_{a,t,k}^{(\alpha)}(D^{(1)} f(t)) = {}^{CF}D_{a,t,k}^{(\alpha)} f^{(1)}(t) = \frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}} \frac{1-\alpha}{k}} \int_a^t e^{-(\frac{k}{1-\alpha}-1)(t-\lambda)} f^{(2)}(\lambda) d\lambda$$

hence, after an integration by part and assuming $f^{(1)}(a) = 0$, we have

$$\frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}} \frac{1-\alpha}{k}} \int_a^t e^{-(\frac{k}{1-\alpha}-1)(t-\lambda)} f^{(2)}(\lambda) d\lambda = f^{(1)}(t) \frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}} \frac{1-\alpha}{k}} - \frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}} \frac{1-\alpha}{k}} \left(\frac{k}{1-\alpha} - 1\right) \int_a^t (t-\lambda)^{\frac{1-\alpha}{k}-1} f^{(1)}(\lambda) d\lambda$$

$${}^{CF}D_{a,t,k}^{(\alpha)}(D^{(1)}f(t)) = \frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}} \frac{1-\alpha}{k}} \left[f^{(1)}(t) - \left(\frac{k}{1-\alpha} - 1 \right) \int_a^t e^{-\left(\frac{k}{1-\alpha} - 1\right)(t-\lambda)} f^{(1)}(\lambda) d\lambda \right] \quad (12)$$

otherwise

$$\begin{aligned} D^{(1)}({}^{CF}D_{a,t,k}^{(\alpha)}f(t)) &= \frac{d}{dt} \left[\frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}} \frac{1-\alpha}{k}} \int_a^t e^{-\left(\frac{k}{1-\alpha} - 1\right)(t-\lambda)} f^{(1)}(\lambda) d\lambda \right] \\ &= \frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}} \frac{1-\alpha}{k}} \frac{d}{dt} \left[\int_a^t e^{-\left(\frac{k}{1-\alpha} - 1\right)(t-\lambda)} f^{(1)}(\lambda) d\lambda \right] \end{aligned}$$

By applying the Leibniz rule

$$D^{(1)}({}^{CF}D_{a,t,k}^{(\alpha)}f(t)) = \frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}} \frac{1-\alpha}{k}} \left[f^{(1)}(t) - \left(\frac{k}{1-\alpha} - 1 \right) \int_a^t e^{-\left(\frac{k}{1-\alpha} - 1\right)(t-\lambda)} f^{(1)}(\lambda) d\lambda \right] \quad (13)$$

thus, from (12) and (13) it results

$${}^{CF}D_{a,t,k}^{(\alpha)}(D^{(1)}f(t)) = D^{(1)}({}^{CF}D_{a,t,k}^{(\alpha)}f(t)). \quad \square$$

It is easy to generalize the proof for any $n \geq 2$.

Lemma 2.4. *Let f be a sufficiently well-behaved function and let α be a real number, $0 \leq \alpha < 1$. The Laplace transform of the k -Caputo-Frabiizio fractional derivative of the function f is given by*

$$\mathcal{L} \left\{ {}^{CF}D_{t,k}^{(\alpha)}f(t) \right\} (s) = \frac{M_k(\frac{\alpha}{k})(sF(s) - f(0))}{k^{\frac{1-\alpha}{k}-1}(s + (1-s)\alpha + k - 1)}. \quad (14)$$

Proof. By using the definition (10) and taking into account some of their basic properties

$$\begin{aligned} \mathcal{L} \left\{ {}^{CF}D_{t,k}^{(\alpha)}f(t) \right\} (s) &= \mathcal{L} \left\{ \frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}} \frac{1-\alpha}{k}} \int_0^t e^{-\left(\frac{k}{1-\alpha} - 1\right)(t-\lambda)} f^{(1)}(\lambda) d\lambda \right\} (s) \\ &= \frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}} \frac{1-\alpha}{k}} \mathcal{L} \left\{ \int_0^t e^{-\left(\frac{k}{1-\alpha} - 1\right)(t-\lambda)} f^{(1)}(\lambda) d\lambda \right\} (s) \\ &= \frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}} \frac{1-\alpha}{k}} \mathcal{L} \left\{ e^{-\left(\frac{k}{1-\alpha} - 1\right)t} * f^{(1)}(t) \right\} (s) \\ &= \frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}} \frac{1-\alpha}{k}} \mathcal{L} \left\{ f^{(1)}(t) \right\} (s) \mathcal{L} \left\{ e^{-\left(\frac{k}{1-\alpha} - 1\right)t} \right\} (s) \\ &= \frac{M_k(\frac{\alpha}{k})}{k^{\frac{1-\alpha}{k}} \frac{1-\alpha}{k}} (sF(s) - f(0)) \frac{1}{s + \left(\frac{k}{1-\alpha} - 1\right)} \\ \mathcal{L} \left\{ {}^{CF}D_{t,k}^{(\alpha)}f(t) \right\} (s) &= \frac{M_k(\frac{\alpha}{k})(sF(s) - f(0))}{k^{\frac{1-\alpha}{k}-1}(s + (1-s)\alpha + k - 1)} \end{aligned} \quad (15)$$

where $\mathcal{L} \{f(t)\} (s) = F(s)$. □

Note that if in (15) $k \rightarrow 1$ we have (7).

3. The Associated k -Fractional Integral

Consider now the following fractional differential equation

$${}^{CF}D_{t,k}^{(\alpha)}f(t) = u(t), \quad t \geq 0 \quad (16)$$

By applying the Laplace transform to the equation (16) we obtain

$$\mathcal{L} \left\{ {}^{CF}D_{t,k}^{(\alpha)} f(t) \right\} (s) = \mathcal{L} \{u(t)\} (s)$$

that is, taking into account (14), we have

$$\frac{M_k(\frac{\alpha}{k})(sF(s) - f(0))}{k^{\frac{1-\alpha}{k}-1}(s + (1-s)\alpha + k - 1)} = \mathcal{L} \{u(t)\} (s) \tag{17}$$

$$M_k \left(\frac{\alpha}{k} \right) (sF(s) - f(0)) = \mathcal{L} \{u(t)\} (s) k^{\frac{1-\alpha}{k}-1}(s + (1-s)\alpha + k - 1) \tag{18}$$

thus, from (17) and (18) it results

$$\begin{aligned} F(s) &= \frac{\mathcal{L} \{u(t)\} (s) k^{\frac{1-\alpha}{k}-1}(s + (1-s)\alpha + k - 1)}{sM_k(\frac{\alpha}{k})} + \frac{f(0)}{s} \\ &= \frac{f(0)}{s} + \mathcal{L} \{u(t)\} (s) \left(\frac{k^{\frac{1-\alpha}{k}-1}s(1-\alpha)}{sM_k(\frac{\alpha}{k})} + \frac{k^{\frac{1-\alpha}{k}-1}(k + \alpha - 1)}{sM_k(\frac{\alpha}{k})} \right) \\ &= \frac{f(0)}{s} + \mathcal{L} \{u(t)\} (s) \left(\frac{k^{\frac{1-\alpha}{k}-1}(1-\alpha)}{M_k(\frac{\alpha}{k})} + \frac{k^{\frac{1-\alpha}{k}-1}(k + \alpha - 1)}{sM_k(\frac{\alpha}{k})} \right) \end{aligned} \tag{19}$$

By applying the inverse Laplace transform to the equation (19) and taking into account some of their basic properties, it results

$$\begin{aligned} f(t) &= f(0)\mathcal{L}^{-1} \left\{ \frac{1}{s} \right\} (t) + \frac{k^{\frac{1-\alpha}{k}-1}(1-\alpha)}{M_k(\frac{\alpha}{k})} u(t) + \frac{k^{\frac{1-\alpha}{k}-1}(k + \alpha - 1)}{M_k(\frac{\alpha}{k})} \mathcal{L}^{-1} \left\{ \frac{1}{s} \mathcal{L} \{u(t)\} \right\} (t) \\ &= f(0) + \frac{k^{\frac{1-\alpha}{k}-1}(1-\alpha)}{M_k(\frac{\alpha}{k})} u(t) + \frac{k + \alpha - 1}{M_k(\frac{\alpha}{k})} \int_0^t u(s) ds \end{aligned}$$

In other words, the function defined as

$$f(t) = c + \frac{k^{\frac{1-\alpha}{k}-1}(1-\alpha)}{M_k(\frac{\alpha}{k})} u(t) + \frac{k^{\frac{1-\alpha}{k}-1}(k + \alpha - 1)}{M_k(\frac{\alpha}{k})} \int_0^t u(s) ds \tag{20}$$

where $c \in \mathbb{R}$ is a constant, is also a solution of (16). Thus, we consequence, we expect that the k-Caputo-Fabrizio fractional integral type must be defined as follows

Definition 3.1. Let $0 \leq \alpha < 1$. Then the k-Caputo-Fabrizio fractional integral of order α of a function f is given by

$${}^{CF}I_k^{(\alpha)} f(t) = \frac{k^{\frac{1-\alpha}{k}-1}k - 1 + \alpha}{M_k(\frac{\alpha}{k})} \int_0^t u(\lambda) d\lambda + \frac{k^{\frac{1-\alpha}{k}-1}k}{M_k(\frac{\alpha}{k})} u(t). \tag{21}$$

Note that ${}^{CF}I_k^{(\alpha)} f(t) \rightarrow {}^{CF}I^{(\alpha)}$ as $k \rightarrow 1$.

4. Logistic Equation with Caputo-Fabrizio Derivative

The logistic equation was first published in 1838 by Pierre Franois Verhulst to exemplify the increasing world population based on the available statistics, this exemplify is closely related to the exponential growing, studied afterwards by Thomas Robert Malthus. The logistic equation can be applied to models dependent on time and covers a vast area of application, such as, the population increase, epidemic diseases spreading and social networks broadcasting among others. In this paper we are solving the k-fractional logistic equation given by Cerruti with a new fractional operator with a non-singular nucleus defined

by Caputo-Fabrizio and generalized by Pablo I. Pucheta. After the considerations made by Camargo and Bruno-Alfonso in ([6]), we present the equation.

$${}^{CF}D^{(\alpha)} f(t) = \lambda[1 - f(t)] \tag{22}$$

Where ${}^{CF}D^{(\alpha)}$ denote the Caputo-Fabrizio fractional derivative introduced in (1). By applying the Laplace transform to the equation (22) taking into account some of their basic properties and $M(\alpha) = 1$, we have

$$\mathcal{L}\left\{{}^{CF}D_t^{(\alpha)} f(t)\right\}(s) = \frac{sF(s) - f(0)}{s + (1-s)\alpha} \tag{23}$$

where $\mathcal{L}(f) = F(s)$

$$\mathcal{L}\{\lambda[1 - f(t)]\}(s) = \lambda\left(\frac{1}{s} - F(s)\right) \tag{24}$$

Thus, from (23) and (24) we have

$$\begin{aligned} \frac{sF(s) - f(0)}{s + (1-s)\alpha} &= \lambda\left(\frac{1}{s} - F(s)\right) \\ sF(s) - f(0) &= (s + (1-s)\alpha)\lambda s^{-1} - (s + (1-s)\alpha)\lambda F(s) \\ sF(s) + (s + (1-s)\alpha)\lambda F(s) &= (s + (1-s)\alpha)\lambda s^{-1} + f(0) \\ F(s)[s + \lambda s + \alpha\lambda - \alpha\lambda s] &= \lambda + (1-s)\alpha\lambda s^{-1} + f(0) \\ F(s)[s(1 + \lambda - \alpha\lambda) + \alpha\lambda] &= \lambda + (1-s)\alpha\lambda s^{-1} + f(0) \\ F(s) &= \frac{\lambda + (1-s)\alpha\lambda s^{-1} + f(0)}{s(1 + \lambda - \alpha\lambda) + \alpha\lambda} \\ F(s) &= \frac{\frac{\lambda + (1-s)\alpha\lambda s^{-1} + f(0)}{1 + \lambda - \alpha\lambda}}{s + \frac{\alpha\lambda}{1 + \lambda - \alpha\lambda}} \end{aligned} \tag{25}$$

Distributing in (25) and considering that

$$\frac{1}{s + \frac{\alpha\lambda}{1 + \lambda - \alpha\lambda}} = \mathcal{L}\left\{e^{\frac{-\alpha\lambda t}{1 + \lambda - \alpha\lambda}}\right\}(s) \tag{26}$$

$$\frac{\frac{-\alpha\lambda}{1 + \lambda - \alpha\lambda}}{(s - 0)(s - \frac{-\alpha\lambda}{1 + \lambda - \alpha\lambda})} = \mathcal{L}\left\{e^{\frac{-\alpha\lambda t}{1 + \lambda - \alpha\lambda}} - 1\right\}(s) \tag{27}$$

Thus, from (26) and (27), we have

$$F(s) = \frac{\lambda}{1 + \lambda - \alpha\lambda} \mathcal{L}\left\{e^{\frac{-\alpha\lambda t}{1 + \lambda - \alpha\lambda}}\right\}(s) - \mathcal{L}\left\{e^{\frac{-\alpha\lambda t}{1 + \lambda - \alpha\lambda}} - 1\right\}(s) + \frac{\alpha\lambda}{1 + \lambda - \alpha\lambda} \mathcal{L}\left\{e^{\frac{-\alpha\lambda t}{1 + \lambda - \alpha\lambda}}\right\}(s) + \frac{f(0)}{1 + \lambda - \alpha\lambda} \mathcal{L}\left\{e^{\frac{-\alpha\lambda t}{1 + \lambda - \alpha\lambda}}\right\}(s) \tag{28}$$

If in (28) applying the inverse Laplace transform it results

$$f(t) = e^{\frac{-\alpha\lambda t}{1 + \lambda - \alpha\lambda}} \left(\frac{\lambda}{1 + \lambda - \alpha\lambda} - 1 - \frac{\alpha\lambda}{1 + \lambda - \alpha\lambda} + \frac{f(0)}{1 + \lambda - \alpha\lambda} \right) + 1 \tag{29}$$

Note that if $\alpha = 1$, then (29) coincides with classical logistic equation.

5. Logistic Equation with the k-Caputo-Fabrizio Derivative

After the considerations made by Cerutti in ([4]), we presented the equation.

$${}^{CF}D_k^{(\alpha)} f(t) = k^{\frac{\alpha-1}{k}} \lambda[1 - f(t)] \tag{30}$$

By applying the Laplace transform to the equation (30) taking into account some of their basic properties and $M(\frac{\alpha}{k}) = 1$, we have

$$\mathcal{L} \left\{ {}^{CF}D_k^{(\alpha)} f(t) \right\} (s) = \frac{sF(s) - f(0)}{k^{\frac{1-\alpha}{k}} k^{-1}(s + (1-s)\alpha + k - 1)} \tag{31}$$

where $\mathcal{L}(f) = F(s)$

$$\mathcal{L} \left\{ k^{\frac{\alpha-1}{k}} \lambda [1 - f(t)] \right\} (s) = k^{\frac{\alpha-1}{k}} \lambda \left(\frac{1}{s} - F(s) \right) \tag{32}$$

Thus, from (31) and (22) we have

$$\frac{sF(s) - f(0)}{k^{\frac{1-\alpha}{k}} k^{-1}(s + (1-s)\alpha + k - 1)} = k^{\frac{\alpha-1}{k}} \lambda \left(\frac{1}{s} - F(s) \right) = k^{\frac{-(1-\alpha)}{k}} \lambda \left(\frac{1}{s} - F(s) \right) \tag{33}$$

$$\frac{k(sF(s) - f(0))}{(s + (1-s)\alpha + k - 1)} = \lambda \left(\frac{1}{s} - F(s) \right) \tag{34}$$

If in (34) we clear $F(s)$, we obtain

$$F(s) = \frac{\left(\frac{(s+(1-s)\alpha+(k-1))\lambda s^{-1} + kf(0)}{k+\lambda-\alpha\lambda} \right)}{s + \frac{\alpha\lambda+(k-1)\lambda}{k+\lambda-\alpha\lambda}} \tag{35}$$

$$\begin{aligned} F(s) &= \frac{\lambda}{k + \lambda - \alpha\lambda} \frac{1}{s + \frac{\alpha\lambda+(k-1)\lambda}{k+\lambda-\alpha\lambda}} - \frac{\frac{-\alpha\lambda+(k-1)\lambda}{k+\lambda-\alpha\lambda}}{(s-0) \left(s - \frac{-\alpha\lambda+(k-1)\lambda}{k+\lambda-\alpha\lambda} \right)} \\ &- \frac{\alpha\lambda}{k + \lambda - \alpha\lambda} \frac{1}{s + \frac{\alpha\lambda+(k-1)\lambda}{k+\lambda-\alpha\lambda}} + \frac{f(0)}{k + \lambda - \alpha\lambda} \frac{1}{s + \frac{\alpha\lambda+(k-1)\lambda}{k+\lambda-\alpha\lambda}} \end{aligned} \tag{36}$$

Considering that

$$\frac{1}{s + \frac{\alpha\lambda+(k-1)\lambda}{k+\lambda-\alpha\lambda}} = \mathcal{L} \left\{ e^{\frac{-(\alpha\lambda+(k-1)\lambda)t}{k+\lambda-\alpha\lambda}} \right\} (s) \tag{37}$$

$$\frac{\frac{-\alpha\lambda+(k-1)\lambda}{k+\lambda-\alpha\lambda}}{(s-0) \left(s - \frac{-\alpha\lambda+(k-1)\lambda}{k+\lambda-\alpha\lambda} \right)} = \mathcal{L} \left\{ e^{\frac{-(\alpha\lambda+(k-1)\lambda)t}{k+\lambda-\alpha\lambda}} - 1 \right\} (s) \tag{38}$$

and if replaced (37), (38) in (36), it result

$$\begin{aligned} F(s) &= \frac{\lambda}{k + \lambda - \alpha\lambda} \mathcal{L} \left\{ e^{\frac{-(\alpha\lambda+(k-1)\lambda)t}{k+\lambda-\alpha\lambda}} \right\} (s) - \mathcal{L} \left\{ e^{\frac{-(\alpha\lambda+(k-1)\lambda)t}{k+\lambda-\alpha\lambda}} - 1 \right\} (s) \\ &- \frac{\alpha\lambda}{k + \lambda - \alpha\lambda} \mathcal{L} \left\{ e^{\frac{-(\alpha\lambda+(k-1)\lambda)t}{k+\lambda-\alpha\lambda}} \right\} (s) + \frac{f(0)}{k + \lambda - \alpha\lambda} \mathcal{L} \left\{ e^{\frac{-(\alpha\lambda+(k-1)\lambda)t}{k+\lambda-\alpha\lambda}} \right\} (s) \end{aligned} \tag{39}$$

Applying inverse Laplace transform in (39), we have

$$f(t) = \frac{\lambda}{k + \lambda - \alpha\lambda} e^{\frac{-(\alpha\lambda+(k-1)\lambda)t}{k+\lambda-\alpha\lambda}} - e^{\frac{-(\alpha\lambda+(k-1)\lambda)t}{k+\lambda-\alpha\lambda}} + 1 - \frac{\alpha\lambda}{k + \lambda - \alpha\lambda} e^{\frac{-(\alpha\lambda+(k-1)\lambda)t}{k+\lambda-\alpha\lambda}} + \frac{f(0)}{k + \lambda - \alpha\lambda} e^{\frac{-(\alpha\lambda+(k-1)\lambda)t}{k+\lambda-\alpha\lambda}} \tag{40}$$

$$f(t) = e^{\frac{-(\alpha\lambda+(k-1)\lambda)t}{k+\lambda-\alpha\lambda}} \left(\frac{\lambda}{k + \lambda - \alpha\lambda} - 1 \frac{\alpha\lambda}{k + \lambda - \alpha\lambda} + \frac{f(0)}{k + \lambda - \alpha\lambda} \right) + 1 \tag{41}$$

Note that if $k = 1$ (41) coincide with (29).

References

[1] A.Atangana and D.Baleanu, *New fractional Derivative Nonlocal and non-Singular Kernel:Theory and Application to Heat Transfer Model*, Thermal Science, 20(2)(2016), 763-769.

- [2] A.Atangana and B.Alkahtani, *Extension of the resistence, inductance, capacitance electrical circuit to fractional derivative without singular kernel*, Advances in Mechanical Engineering, 7(6)(2015), 1-6.
- [3] M.Caputo and M.Fabrizio, *A New Definition of Fractional Derivative Without Singular Kernel*, Progress in Fractional Differentiation and Applications, (2015).
- [4] R.Cerutti, *The k-fractional Logistic Equation With k-Caputo Derivative*, Pure Mathematical Sciences, 4(1)(2015).
- [5] R.Díaz and E.pariguan, *On Hypergeometric Functions and k-Pochhammer symbol*, Divulgaciones Matemáticas, 15(2007).
- [6] R.Figueiredo Camargo and A.Bruno-Alfonso, *Equacao Logistica fraccionaria*, Anais do Congresso de Matematica Aplicada e Computacional, CMAC Nordeste Brazil, (2012).
- [7] R.Hilfer, *Threefold Introduccion to fractional Derivative*, Anomalous Transport: Foundation and Applications, (2008).
- [8] J.Losada and J.Nieto, *Properties of a new fractional derivative without singular kernel*, Progress in Fractional Differentiation and Applications, (2015).
- [9] S.Mubeen and M.Habibullah, *k-fractional Integrals and Application*, Int. J. Contemp. Math. Science, 7(2)(2012).
- [10] J.Nieto and A.Atanagua, *Numerical solution for the model of RLC circuit via the fractional derivative without singular kernel*, Advances in Mechanical Engineering, 7(10)(2015), 1-7.
- [11] Romero G.Luque and G.Dorrego and R.Cerutti, *On the k-Riemann-Liouville Fractional Derivative*, Int. J. Contemp. Math. Sciences, 8(1)(2013).